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#include<stdio. h>
#include<termio. h>
#include<fentl. h>
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#include<lime. h>

#define ERR 1
fidefine OK 2
#define RED xBTS K ELATR *
#idefine GREEN  "\uB2"/ % 4T E % /
#define DARK B3k AT K S

#define QUITKEY  Ox7f
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#define SELAUX2 "\x1b!3; 0;0; 02"
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#define INITAUX ~ "\x1b[/50h'\x1b{ /54h\x1b[53h"
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#define CLOSEAUX  “\x1b[ /501 \x1b[21"
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#define AUXLEAD  "‘x1b[/51h"
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#define AUCXEND  "\x1b{/511
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#define KEYLOCK  “\x1b[2h"
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static struct termio oterm, term;
statie int term_fd;

main( }
{
int 1;

char ch, passwd_buf[20];

setterm (0} SR IFEERREX
selaux2(): /B2 s
sendaux { GREEN); / % H iR SR I K« /
1=

while (1] {

read (term_fd, &ch, 1)
passwd_buf[i + + ] =ch;
if(ch= =0x0a)/ * BFARBW * /
break;
}
printf( "The input passward is % s\n", passwd_buf};

sendaux [ DARK); / * X EFIGEAELT * 7
A RARO S
SRR E AR, s

closeaux (1;
resetterm( };

refurn;
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setterm (int fatat)
{
term_fd = open( (char % Jityname (1), 0_RDWRI fstat);
il (term_fd<0)return - 1;
if(ioet] (term_fd, TCGETA, &term) <0} return ERR;

oterm = term;

term. ¢_iflags = "1XON;

term. ¢_lflag& = "ECHO;

term. «_lflagd = " 1CANON;

term. c_ce[ VMIN] = 1;

term. c_ce[ YTIME] = 1:

term. ¢_ce[ VQUIT] = QUITKEY;

if{ioct] (term_fd, TCSETA, &term)<0}retun ERR;
return term_{d;
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resetterm( )

{

if{term_fd<0) retumn - 1:

if(ioct] (term_{d, TCSETA, &oterm}<0) return ERR;
close (term fd);

return OK;

1

* /B RO, S
selaux2()

(
write{term_[d, SELAUX2, sirlen(SELAUX2) );
write{ teron_fd, INITAUX, strlen [ INITAUX) );
write{ term_fd, KEYLOCK, strlen{ KEYLOCK} }:
return OK;

)

SEAFOERFHRY/
sendauz{s}
char* s;

{

write{ term_{d, AUXLEAD, stelen( AUXLEAD) };
write (term_fd, s, strlen(s}};
write{term_fd, AUXEND, strten { AUXEND)):

)
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closeaux{)

1
write( term_fd, CLOSEAUX, strlen(CLOSEALX]) );
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